Physics formulae

Kinematics
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Dynamics
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Pressure

[image: image7.wmf]Pressure

Force

Area

=



[image: image8.wmf]Pressure

hpg

=



[image: image9.wmf]1122

PVPV

=

     , assuming temperature is constant.
Turning effect of forces
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Temperature
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   , l is latent heat of fusion  

                                                                                            or vaporisation
Power, Work Done, Energy 
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Electricity
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     ,   p is resistivity of conductor, l is length of conductor, 

                           A is cross-sectional area of conductor.
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   , adding two or more resistors in series.
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    , adding two or more resistors in parallel.
Using electricity
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Light
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      , C is critical angle
Transformer
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   , assuming transformer is 100% effective.
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